Losungen

Kapitel 10: Arbeitslosenversicherung
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M engenkomponente;

Lohnkomponente;

Lohnrisiko;

(im-)materiellen Bedurfnisse unbegrenzt;

®

E[C] =71000;
S[C] = 2437212;

b*=75000;

C* =72500;

I7=-0,02b;

p=12%

Festgehalt;

nein, 79,37 =U(EC) > EU = 79;
Festgehalt = 6241;

Risikopramie = 189

risikofreudig;

riskoaversen;

riskoneutral;

risikofreudig;

riskoavers

E[C]=82000;

U (E[C]) =1145,43;
E[U]=1120;

Tauschgewinn = 2543;

b* =80000;

E[CALV ] =83728;

E[C Ay 1=83728>E[C]=82000;
I1=1152

b, d;

a,C €

b, d;

ac

p(wa) = (a/wp)7 ;

A4U (WA) = ﬂ,ay / r(}/_l)WAyfl;

Wa =(b-K)/2+[(b—Kk)2/ 4+ 1a% [ r]Y?;
by =[4a” /r(y - kYD
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